PGT Hindi

Q 1). Which Indian state is planning to launch a massive jungle safari project in the Aravalli
Hills, aimed at promoting eco-tourism and sustainable development?

(A) Rajasthan

(B) Gujarat

(C) Madhya Pradesh

(D) Haryana

Correct Answer: (D)

Q 2). Prime Minister Modi had accorded a ceremonial welcome during his recent visit to
Croatia at

(A) St. Mark’s Church

(B) Croatian Parliament

(C) Banski Dvori Palace

(D) Zagreb City Hall

Correct Answer: (C)

Q 3). Which of the following countries were recently elected to serve as a non-permanent
member of the UN Security Council for a two-year term starting in January 20267

1. Bahrain, Colombia, Latvia

2. Indonesia, Sri Lanka, Vietnam

3. Liberia, The Democratic Republic of Congo

(A)1,2&3

B)1&3

(C) Only 2

D)1&2

Correct Answer: (B)

Q 4). “How many characters are there in the story?” This question is of level as per
the revised Bloom’s Taxonomy.

(A)remembering

(B) evaluation

(C) understanding

(D) application

Correct Answer: (A)

Q 5). Which of the following is an example of positive reinforcement as per child
psychology?

(A) Giving a child a time-out for misbehavior.

(B) Praising a child for completing homework.

(C) Removing TV privileges for poor grades.

(D) Ignoring a child's tantrum.

Correct Answer: (B)
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Q 6). As per NEP 2020, what is the proposed bagless period for students in Grades 6-8 in a
year?

(A) 5 days

(B) 10 days

(C) 15 days

(D) 20 days

Correct Answer: (B)

Q 7). H-Y wfd Hfad Hfa 72

(A) TiaRT™

(B) PrERe™

(C) ST

(D) BT

Correct Answer: (C)

Q 8). HEdlM Udhd S 3Hfg T, T &4 |

ST duiaH W fodt dRg-ara ferE ||

Sy dfeaal | faert A frg &1 qui+ frar 82

(A) T8I au Fg HT1 guH g |

(B) U idl ! YaxaT 3R STl SIHaR] &1 =4 fIfd fear gl

(C) T B! qUIGT AR el BT auH |

(D) W 35g 1 aui 5 |

Correct Answer: (D)

Q 9). FufaRad & & forT! AT v & fo e ST IR i 82

(A) TS

(B) &1 U1 g1

(C) HIG-TTd aqadl

(D) T%HId gadTal

Correct Answer: (A)

Q 10). gH ST faceror uroft H7 1ot I 781 ST | faeeor Wsg o1 -t TR
3PS 87

(A)STTTdarId T3

(B) fa=iwmoT

(C) HTaarad I3

(D) FdTH

Correct Answer: (B)

Q 11). “Gld Wg HRAT TR &1 g 3 F:1 g2

(A) T RE I IR Bl

(B) SRI ORE T AT

(C) Sl e &

(D) MM DAl

Correct Answer: (A)
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Q 12). FRufafEa e &) ugH? U T Uy &7 IR Sifer:

Hd S I T T8 HYT &R T Uelid 811 & [ Hid UPia &1 Rifed gl o | o/
UHR IR 30 oM & TH HATaR] Td ATd-IRERIS I R 8T 8, 39 UHhR
i B! Upia & T gl U fpar-ufafsarsii &1 7Hg g1 91fieu| 39 fo1 &fa &1
“Hid’ b T3 Y Iy BT it I Ul 181 BIaT| Hid gt 3ot g&H e g
TopTd o TIT0T B U q1 Td Uenil &l ¢ ol &, el AT SAfakdl o € el ol 3R
g Tl +t 8 df I b el Uga | 8 9 Ugd forT i U &1d g fAdberd!, STt ATeRuT
g W ot TRy 81, difes g1 WR i sraifhe siHeaTes B, Yot ot g WR
T TR fG@ aTeht 81, UPHid & T Td gad 8| &I GAuTyR0 & 209y F AT
B BT HM g1 33T B HHNT HRd &1, SBR-GYA! DI Y HAT AT MBI B AR
AT 53 BT S T8 8| T8 SR &1 B §, Hid BT B 598 i T8 8 | SqT1H01 Td
fofTet & FMHIER quif &t Tit-qeft Te-3=m &1 91 +ft B et 8, S o g =
ST & | e T W UPHTd-THaeur B SRTURUN Xfad & AY-91Y Hid & U Siig-rgHal
D1 & DY BT A1 U1 I fafdey Hefsfi ud 2l o1 711 i1 Anfgu
A O T B BT HH 82
(A) TP & T U4 o I8! Bl AR o EPUY & A
(B) 31T B HiHRT B IE T
(C) SATHTRI-HFH! B G AT
(D) 3B & IR ST |
Correct Answer: (A)

Q 13). TAT - TATPR & A 3t 3R[fes v oo & 82
1. GRS I - daavals

2. I - IRET

3. QIR IY - fagmafa

4. geradi! - faemfa

(A) 1 3R 4

(B) 2 3R 3

(€)1 3R 3

(D)2 3R 4

Correct Answer: (B)

Q 14). fFufafea & oH-w favd T 32
(A) TH TR IO gd B |

(B) Gt TR 3V BIA B

(C) $B TR JUIY 3R 3 Y g 3
(D) TR 99 3R 36y G TS 8l |

Correct Answer: (A)
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Q 15). TWd TH SR H-E! AR
3R gl o9 s 3iTd TR
d9 TR SgRd Qb
O A To! gl SfadH |
3R B oie & 3T IR~ TR 3 817 &7 3 b e Wfad @ Uebe I ffd <l
MG
(A) dTTa! Teg e
(B) 3TN Usq fdd
(C) &I Xeg; Rfekd
(D) TSI Xeq Vfad
Correct Answer: (C)
Q 16). Ia1 BT B I FU Lg 87
(A)
(B) ST
(C) ST
(D) ST
Correct Answer: (C)
Q 17). Jfd @I w1 B 31T fog= A
(A) ATHA
(B) *Ra A
(C) Pd®
(D) HigH Hg
Correct Answer: (A)
Q 18). FAufeiRad # oH-91 I~ AeTHTey gl 82
(A) BTHTT
(B) UaTad
(C) Sldgy ay
(D) TTohd

Correct Answer: (C)

Q 19). IA& AAHR & fAwg T DI 1 I IS 82

(A) IHET HTHR T UK H TR P HedT Urg et ¢ |

(B) IeMT 3dR H T, A, AFg, A1 31 I Wea! ol YT Blat g |

(C) SH&TT TP R 3HUTHBR BT Th NG

(D) IV TR & IURY & SUAM DI IrHTI glelt 8|

Correct Answer: (A)

Q 20). “3fDHTd H TR Hiddl T, oRTed! 1989 T A rbTeH REHR foam o,
et oia 82

(A) Yffra

(B) TGdR TG

(C) harTy Rig

(D) HERATY AT

Correct Answer: (C)
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